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Educrat 1S is a Kolkata based coaching centre for preparation of LAS/IPS &
WBCS Examination. We provide extensive and holistic preparation to a small
batch of sincere & dedicated aspirants who aspire & dream to become a part of the
coveted Civil Services. The three mantras we follow in our dynamic &l unique

preparatory process are guidance as per the demand of the syllabus, practice of past
year questions and referring specific & limited resources which are best. Our smart
study techniques focus on multiple revision of the same resource, inter-linking of
various concepts, discussion of contemporary issues through fortnightly newspaper
reading classes, weeRly and monthly mock tests etc. Personalised mentorship
gquidance by Civil Service toppers themselves as per the changing trend & nature of

the exam pattern makes us different from the rest of the LAS coaching institutes in
Kolkata.
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1999

1.A mixed economy is one
a) Where domestic and foreign trade intermixed
b) Where private and public economic units
operate side by side
c) Public sector operates successtully
d) Where private sector 1s policed by State sector
planning 1n India

2.Which of the following are the principal aims
of the ninth plan
1.Priority agriculture and rural development
2. Containing the growth rate of population
3.5trengthening efforts to build self-Reliance
4. Growth of exports at 16.5% annum

a) 1 and 2 only

b) 3and 4

c) 12and3

d) 123and4

3.The period of annual plans 1966 to 69 is
usually regarded as
a) Temporary plan period
b) Plan holiday
c) A period of cessation of all plan activities
d) Plan rest period

4.During the ninth five year plan the
incremental capital output ratio has been
assume to be

a) 3.5

b) 4.08

c) 4.5

d) S

S.The second five year plan was based on
a) 'The Gandhian strategy
b) The Mahalonobis strategy
c) German historical school strategy
d) None of the above

6.Economic reforms and liberalization were

introduced in Indian planning in the
a) 1960s

b) 1990s
c) 1970s
d) 1980s

7. The concept of planning was first approach in India by

a) Jawaharlal Nehru
b) Subhash Chandra Bose

c) M Visvesvaraya
d) ArdeshirDalal

8.the planning commission was appointed in
March 1950 under the chairmanship of

a) P.C Mahalanobis

b) Jawaharlal Nehru

c) C.D Deshmukh

d) None of the above

9.In the ninth five year plan the growth rate in
the GDP per annum is to be

a) 5.5 %

b) 6%

c) 6.5%

d) 7%

10.State Bank of India was formerly known as
a) The imperial Bank ot India
b) The National Bank of India
c) The Central Bank of India
d) The industrial Bank of India

11.The reserve Bank of India is
a) A shareholder's Bank
b) A government owned bank
c) Partly private and partly state-owned Bank

d) A scheduled Bank

12.Bank rate is an instrument of
a) Credit control
b) Reducing fiscal deficit
¢) Reducing deficit financing
d) Increasing tax revenue

13.In the financing of Indian plans in direct taxes
have played
a) A very important role
b) A Negligible role
c) Are less important role compared
to that of direct taxes
d) Are less important role compared
to that of deficit financing

14.The chairman of the twelfth finance commission was

a) KC Panth

b) Manmohan Singh
c) Mahavir Tyagi

d) C.R Rangarajan

15.Deficit financing
a) Increases money supply
b) Decreases money supply
c) Has no effect on money supply
d) Has stabilizing effect on price level
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2.under the chairmanship of pandit Jawaharlal Nehru
planning commission was formed in the year

16.Deficit financing of a plan normally has
a) Inflationary effect on the economy
b) Deflationary effect on the economy
c) Stabilizing etfect on the economy
d) A neutral effect on the economy

17.the green revolution in agriculture has made
the Indian farmers dependent on

a) Machines

b) Fertilizers and pesticides

c) Labour

d) Availability of micronutrients

18.The green revolution was connected with
a) Detorestation
b) Ecological balance
¢) Agricultural production
d) Frequent use of green in paintings

19.Which of the following statements is
not true about NABARD
a) It 1s an Apex 1nstitution in the rural sector
b) It provides refinancing facilities to financial
intermediaries operating in the rural sector
c) It does not lead to RRBS
d) 1t supports of broad spectrum of productive
activities in the rural sector

20.IREDA is associated with
a) Reconstruction of dams
b) Development of rural employment
c) Development of renewable energy
d) Retfund of deposited assets

21.The Asian Pacific Economic Cooperation (APEC)
was inaugurated in 1989 at

a) Washington

b) London

¢c) Rome

d) Canberra

22.SEBI is acronym of
a) State education board of India
b) Fourth Eastern Bank of India
c) Securities and Exchange board of India
d) Scheduled castes and educationally backward
classes of India

2000

1.In India the per capita income is the lowest in
a) West Bengal
b) Rajasthan
c) Bihar
d) Kerala

a) 1949
b) 1950
c) 1951
d) 1952

3.Almost same importance was given to agriculture
and industry in the

a) First plan
b) Third plan
c) Fourth plan
d) Fifth plan

4.Indian leaders accepted planning from the
experience of

a) China

b) Russia

c) Czechoslovakia
d) Germany

S.The ninth plan aims population growth at

a) 1.7 %
b) 1.8%
c) 1.9%
dy 2%

6.which prime minister wanted to implement
recommendations of The Mandal commission

a) Indira Gandhi

b) V.P Singh

c) Chandrashekhar

d) P.V Narasimha Rao

7.The purpose of community development programme
was

a) To create scientific Outlook among rural people
b) To solve the unemployment problem
c) To cultivate the spirit ot selt-Reliance an 1nitiative

among rural people
d) All of the above

8.In the community development programme the
government provides

a) Only financial assistance
b) Only technical assistance
c) Bothaandb

d) None of these

9.Programs against poverty during the eighth plan were

a) IRDP, JRY, EAS
b) Water supply, housing

¢) Education
d) Public health

Educrat IAS, 4'" Floor, Manjari Building, 1, Camac Street, Kolkata — 16. Ph: 8910154148



%# EducratIAS

10.a system of Panchayati Raj existed even before 1947 in

a) Maharashtra

b) Gujarat

c) Tamil Nadu

d) All of the above

2001

1.India’'s five years plans are finally approved by the
a) President
b) Prime minister
c) National development council
d) Minister of finance

2.Which of the following plans laid special stress
on science and technology

a) Third plan

b) Fifth plan

c) Seventh plan

d) Eighth plan

3.The planning commission is

a) A wing of the ministry of planning Government
of India

b) Endowed with the responsibility of implementing
five year plans

c) An advisory body

d) Department of the ministry of finance Government
of India

4.Prices can be stabilized by
a) Increasing production
b) Controlling the supply of money
¢) Devaluation

d) Aandb

S.in the union budget 2000-2001 the fiscal deficit has
been pegged at

a) 4.1 %

b) 4.5 %

c) 5.1 %

d) 5.9%

6.The community development programme aims at
a) Providing educational tacilities to rural people
b) Providing healthcare tacilities to rural people
c) Optimum utilisation of rural resources
d) Integrated rural development

7.Globalisation of the Indian economy means
a) Establishing business units abroad
b) Export promotion
¢) Import liberalization
d) putting minimum restriction on trade relations
with other countries

3.which decade has been declared as the
international declared for natural disaster reduction
a) 1970 to 1980
b) 1980 to 1990
c) 1990 to 2000
d) 2000 to 2010

9.which international organization is helping
India in drawing up a forest plan

a) FAO

b) World Bank

¢c) UNDP

d) IDA

10.The universal declaration of human rights was
adopted on

a) December 10 1948

b) January 26 1950

c) August 14 1947

d) October 20 1962

11.The major thrust of world development report
of 2001 is

a) Entering the 21st century

b) Knowledge for development

c) Environment and development

d) Attacking poverty

12.The national wildlife action plan was adopted
by India in

a) 1963

b) 1973

c) 1983

d) 1993

2002

1.Balance of payment account of a country

a) records the country's economy transactions
with the rest of the world

b) shows the amount of loans taken by the country
from foreign countries

c) shows the amount of loans given by the country
to foreign countries

d) None of the above

2.The objective of the plan strategy followed in the
first seven plans was

a) Achieving self Reliance

b) Increasing export growth

c) Increasing import growth

d) Maximizing growth of employment
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3.The term prudential norms is associated with

a) 'Trade policy

b) Banking sector Reform
c) Industrial policy

d) Agriculture policy

4.Fiscal deficit measures

a) The amount of increase 1n Government debt

b) the gap between Government expenditure and
the tax receipt

c) the difference between Government consumption
expenditure and tax receipt

d) the ditference between Government revenue
expenditure and revenue receipt

S.the structural adjustment programme was
adopted by the government of India in

a) 1993
b) 1990
c) 1991
d) 1992

6.The most important economic problem that
India is currently facing is

a) Inadequate supplies of infrastructural services
b) Inadequate supplies of skilled manpower

c) Inefficiency of private sector firms

d) None of the above

7.The average annual growth rate of India's
population for 1990-99 was

a) 2.5 %
b) 2.2 %
c) 2%

d) 1.8%

3.Land reforms refers to the government efforts at

a) Abolishing ownership rights of non cultivating
landlords

b) Making the ownership rights of landlords
more secure

c) Regulating land prices

d) Plating land use

9.Green revolution was most successful in the

a) 1960s
b) 1970s
c) 1980s
d) 1990s

10.In the 90s

a) Growth rate of the primary sector was highest

b) Growth rate of the secondary sector was highest

c) Growth rate of the tertiary sector was highest

d) All the 3 sectors grew more or less at the same rate

11.India's industrial recession in the 90s started
in the year

a) 1996-97

b) 1995-96

c) 1994-95

d) 1998-99

12.a profit making industry becomes sick.
the most important factor responsible for it
among the following is
1. Poor work culture of the country
2. Non-cooperation of a section of labour
3. Lack of proper planning of the management
4. want of skilled labour

a) 3

b) 1and?2

c) 4

d) 1and4

13.Functional theory of resources was propounded by

a) Weber

b) Zimmerman
c) Wagenar

d) Harvey

2003

1.in a developed economy the major share
of employment originates in the

a) Primary sector

b) Secondary sector

c) Tertiary sector

d) None of the above

2.which of the following is not required while
considering GNP gross National product

a) Purchase of goods by government

b) Private investment

c) Per capita income of citizens

d) Net foreign investment

3.Which of the following increases continuously
with increase in production

a) Fixed cost

b) Vanable cost

c) Average cost

d) Marginal cost

4.Who finally approves the draft five year plan
a) Parliament and state legislatures
b) National development council
¢) Planning commission
d) The president of India
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S.After which five year plan planning had to
be given a short holiday

a) Sixth five year plan

b) Second five year plan

c¢) Third five year plan

d) Fourth five year plan

6.The fifth five year plan was terminated at the
end of 4th year because
a) There was no fund
b) The Janata party wanted to start a
new plan with change objective and patterns
¢c) Of severe drought conditions
d) Emergency had ended

7. The heavy and basic industrialization
is associated with India's

a) Third five year plan

b) Fourth five year plan

c) Sixth five year plan

d) Second five year plan

3.centre-state financial relations are looked after by
a) Finance commission
b) Sarkaria commission
¢c) Ministry of finance
d) Planning commission

9.The poverty line in India has been defined
on the basis of
a) Standard of living of the people
b) Income level of the majority ot the people
c) Calorie intake index of the people
d) None of the above

10.Green revolution has led to market increased in
a) Productivity of wheat
b) Regional inequalities
c) Interpersonal inequalities
d) All of the above

11.West Bengal own industrial policy was
declared in the year

a) 1982

b) 1994

c) 1995

d) 1996

12.The main objective of international monetary fund

loan to India is to
a) Meet the balance of payment deficit
b) Increase agricultural production
¢) Decrease deticit in the union budget
d) Improve technology

2004

1. Those who benefits from the inflation are
a) Creditors
b) Debtors

c) Wage earners
d) Salaried

2.which of the following is not a method of
estimating the national income of a country
a) Product method
b) Income method
c¢) Expenditure method
d) Income import method

3.Which of the following estimates the national income
of India

a) Indian standard institution

b) Indian statistical institute

c) Central statistical organization

d) None of the above

4.Which of the following was the period of annual plans
a) 1951-56
b) 1966-69
c) 1969-74
d) 1978-79

S.the place where Bank settle mutual claims and
accounts is known as a

a) Treasury

b) Clearing house

c¢) Collection Centre

d) Stock exchange

6.Index of poverty is prepared on the basis of
a) Assets distribution
b) Income distribution
c) Subsistence level of consumption expenditure
d) Employment situation

7.JRDP means

a) Integrated rural development programme

b) Integrated road development programme

c) Integrated regional development programme
d) None of the above

8.The policy of family planning was adopted by
the government of India in

a) 1951

b) 1952

c) 1956

d) 1962
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9.The objectives of land reforms are
a) Increase in production

b) Increase in the purchasing power of a rural people
¢c) Economic development with equity 1n distribution

d) All of the above

10.Which of the following states grow sugarcane
as a major crop

a) Bihar

b) Rajasthan

c¢) Uttar Pradesh

d) Punjab

11.The earlier name of WTO was
a) UNCTAD
b) GATT
c) UNIDO
d) OECD

12.The item that earns the maximum foreign
exchange for India is

a) Leather and leather goods

b) Spices

¢) Pharmaceuticals

d) Rice

13.which of the committees or commissions made
recommendations for granting more powers
and responsibilities to the panchayati Raj

a) Jain commission

b) Mehta commission

¢) Mandal commission

d) None of the above

14.India has the largest volume of export trade with
a) America
b) Britain
c) France
d) Japan

15.which of the following has been given special
representation in panchayati Raj

a) Backward classes

b) Women

c) Cooperative society
d) All of the above

16.Name the country which launched network India
a) Hong Kong
b) US
c) Singapore
d) Germany

2005

1.In which plan was the target of deficit financing
taken as zero

a) First plan

b) Third plan

c) Seventh plan

d) Ninth plan

2.Which one out of the following is not the
objective of Indian planning

a) Industrial growth

b) Population growth

c) Self Reliance

d) Productive employment generation

3.The planning commission was formed in the year
a) 1947
b) 1949
c) 1950
d) 1951

4.In India 14 major commercial banks were nationalized
in the year

a) 1949

b) 1953

c) 1969

d) 1975

S.Which of the following can be levied by the state
government

a) Income tax

b) Wealth tax

c) Tax on profession

d) Capital gains tax

6.Which of the following is not one of the sources
of revenue of the village panchayat

a) Government grants

b) Income tax

¢) Local taxes on land

d) House tax

7.When was the first West Bengal human development
report published

a) 2001

b) 2002

c) 2003

d) 2004

8.Community development is organised on the basis of
a) Population
b) Community
c) Area
d) None of these
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9.in India natural rate of increase of population
was highest during decade

a) 1961-71

b) 1981-91

c) 1941-51

d) 1921-31

10.Operation Barga refers to
a) A program for universal registration of tenants
b) Recognition of sharing of outputs between
landlords and share croppers
c) Recognition of sharecroppers rights to cultivate
lands of absentee landlords
d) Equal distribution of lands

11.from which year the policy of globalization
of Indian economy has been followed

a) 1980

b) 1985

c) 1991

d) 2000

12.In the second industrial policy of 1956 industries
were divided into

a) Two classes

b) Three Classes

c¢) Four classes

d) Six classes

13.Government of India has started selling share of
selected public sector from the year

a) 1992

b) 1993

c) 1994

d) 1997

2006

1.Formation of planning commission is mentioned
in the article of the constitution

a) 196

b) 308

c) 360

d) Not Mentioned 1n the constitution

2.First five year plan of India began in the year
a) 1948
b) 1947
c) 1951
d) 1956

3.What is the name of the Central Bank of India
a) Central Bank of India
b) State Bank of India
c) Reserve Bank of India
d) Indian overseas Bank

4.The objective of TRYSEM is
a) Training of rural youth for self-employment
b) Self-employment of urban youth
c) Training for selt-employment of women
d) Prepare child development programme

5.Jawahar Rozgar Yojana is meant for
a) Employment of rural unemployed
b) Urban unemployed
c) Self-employment of rural women
d) Employment of landless farmers

6.Community development programme started in
a) 1952
b) 1956
c) 1972
d) 1980

7.Balwant Rai Mehta committee was appointed
a) To examine the community development projects
b) To formulate national security policy
¢) To formulate child welfare programme
d) To formulate labour welftare programme

8.IRDP stands for
a) Integrated rural development programme
b) Indian rural development programme
c) Investment to rural development programme
d) International research and development policy

9.Mid-day meal scheme was launched in
a) 1996
b) 1997
c) 1995
d) 1098

10.Operation Barga was first introduced in
a) Karnataka
b) West Bengal
c) Kerala
d) Bihar

11.What is meant by TR IPS
a) Laws relating to tax rebate
b) Trade related laws
c) Trade related intellectual property rights
d) Proportionate tariff rule

12.Liberalization of Indian economy started from
a) 1991
b) 1985
c) 1995
d) 1988
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13.ONGC stands for
a) Oil and natural gas company
b) il and natural gas corporation
¢) Organization of non-government company
d) Organization of non-government cooperatives.

14.SAARC is a regional organization of
a) South Asian States
b) South American States
c) South African States
d) Asian and African States

15.What is meant by SEBI
a) Women welfare organization
b) Integrated credit scheme
¢) International sports authority
d) Securities and exchange board of India

16.Nanavati Shah commission was appointed to probe
a) QGujarat riots
b) Centre state relations
¢) Fodder scam
d) Refugee influx

17.when was the recommendation of the states
reorganization act in West Bengal implemented
a) 1954
b) 1955
c) 1956
d) 1957

2007

1.According to purchasing power parity India is the
a) Tenth largest economy
b) Fifth largest economy
¢) Fourth largest economy
d) Seventh largest economy

2.which of the following experience the fastest
expansion during the plan period in India

a) Agriculture

b) Industry

c) JServices
d) None if the above

3.In which year was the reserve Bank Of India
established

a) 1935

b) 1940

c) 1947

d) 1949

4.Present the National commission on population
is under

a) Planning commission

b) Ministry of human resource development

c) Cabinet secretariat
d) Ministry of health

S.the National bank for agriculture and rural
development NABARD was established in

a) 1981

b) 1982

c) 1983

d) 1984

6.In which of the following years was the
food corporation of India set up

a) 1955

b) 1960

c) 1965

d) 1970

7.which of the following is included in the employees
State insurance act 1948

a) Unemployment insurance

b) Medical benefit

¢c) Minimum wages

d) None of the above

8.when was the concept of the human development index
introduced by the United Nations development
programme

a) 1990

b) 1991

c) 1993

d) 1995

2008

1.The national income of a country is
a) The annual revenue of the government
b) Sum total of factor incomes
c) Surplus of public sector undertakings
d) Export minus import

2.Whose name is associated with formulation of
planning strategy in second five year plan

a) Mahatma Gandhi

b) Jawaharlal Nehru

c) Prasanta Chandra Mahalanobis

d) BR Shenoy
3.Primary emphasis during second plan was laid on
the development of

a) Rural areas

b) Basic and key industries

c) Foreign trade

d) Consumer industries
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4.the eleventh five-year plan is setting the stage for
a) 11% economic growth
b) 9% economic growth
¢c) 10% economic growth
d) 8% economic growth

S.Bank rate is the rate
a) At which banks lend money to the depositors
b) At which reserve Bank of India lends money to
commercial banks
c) The rate at which banks lend to the industrial
financial 1nstitutions
d) None of the above

6.Who maintains foreign exchange reserves
in our country
a) Reserve Bank of India
b) State of India
¢) Minister of finance Government of India
d) Export import Bank of India

7.Finance commission is

a) An organization to prepare annual budget
for the government

b) an organization to find out financial resources
for financing five year plans

c) aconstitutional body appointed by the president
every S years to reduce centre state financial
relationship

d) A permanent body to supervise centre state
financial relationship

8.Fiscal policy refers to
e) Agricultural tertilizer policy
f) Rural credit policy
g) Interest policy
h) revenue and expenditure policy of the government

9.In terms of human development index India
falls under the following category

a) High

b) Medium

c) Low

d) Very low

10.Industrial licensing was finally abolished
within a (few exceptions) in the

a) Industrial policy 1970

b) Industrial policy 1980

¢) Industrial policy 1991

d) Industrial policy 1995

11.in a factory that pays its employees on a piece
work system the schedule of
reinforcement can be said to be

a) Fixed ratio

b) Fixed interval

c) Variable interval

d) Varable ratio

12.the iron and Steel plants of Rourkela and Durgapur
were conceived under the

a) First five year plan

b) Second five year plan

¢) Third five year plan

d) Fourth five year plan

2009

1.The largest source of India's GDP is
a) Agriculture and allied activities
b) Foreign trade
¢) Manutacturing construction industry electricity
and gas
d) Services Sector

2.The slogan GARIBI HATAO was included in
which five year plan

a) Third plan

b) Fourth plan

¢) Fifth plan

d) Sixth plan

3.the real introduction of decentralized planning in
India was made for the first time during the

a) ‘/th plan

b) 8th Plan

c) 9th plan

d) 10th plan

4.the draft eleventh five year plan 2007 to 2012 aims
to achieve an average annual growth rate of

a) 8%

b) 9%

¢) 920 %

d) 10%

S.Planning commission is a
a) Statutory body
b) Non-Statutory body
c) Constitutional body
d) Autonomous body
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6.National development council deals with
a) The approval of 5 year plans
b) Poverty alleviation programmes
¢) Rural development programmes
d) Preparation of development plans

7.Which of the following statements is not true
1. RBI has hike the CRR by 50 basis points
2. RBI did not change the repo rate
(up to September 2008)
3. RBI has hike the repo rate by 50 basis points
Choose the correct code:

a) Only 1

b) Only 2

c) Only3

d) All of the above

8.which of the following rates is not determined
by the reserve Bank of India

a) CRR

b) SLR

c) Reporate

d) Prime lending rate

9.13 member committee of secretaries formed by the
central government to process The sixth pay
commission report was headed by

a) Revenue secretary V.P Bhide

b) Expenditure secretary Sushma Nath

c) Cabinet secretary K.M Chandrashekhar

d) Finance minister P. Chidambaram

10.which of the following taxes/ duties is not under the
jurisdiction of the central government

a) Land revenue

b) Personal income tax

c) Corporate income tax

d) Customs duty

11.The basis of determination of dearness allowance
of urban salaried workers and government in India is
a) Wholesale price index
b) Consumer price index for industrial workers
c¢) CPI for agricultural laborers
d) CPI for urban non-manual employees

12.At present as per government rules the maximum
area allowed for special economic zone (SEZ) is

a) 2000 hectares

b) 3000 hectares

c) 4000 hectares

d) 5000 hectares

13.World Trade organization was established in the year
a) 1986
b) 1995
c) 2000
d) 2005

2010
1.In which of the following five year plans a bold
approach was adopted towards a long term
employment policy

a) Fifth

b) Sixth

c) Seventh

d) Eighth

2.Which five year plan was suspended one year
before it's time schedule

a) Third plan

b) Fourth plan

c) Fifth Plan

d) Sixth plan

3.which one of the following is an indirect tax levied
by the central government in India

a) Service tax

b) Corporate income tax

c) Professional tax

d) Agricultural income tax

4.VAT is imposed on

a) The tinal consumer of a commodity

b) Total value added at the final stage production
of a commodity

c) the value added at each stage of production of a
commodity

d) aggregate value in terms of cost of production
of the producer of a commodity

S.The Fiscal Responsibility and Budget Management Act
deals with

a) Revenue deticit only

b) Fiscal deficit only

c) Both fiscal deficit and revenue deficit

d) Fiscal deticit in the budget of state governments only

6.The community development programme was
launched in the year

a) 1950

b) 1951

c) 1952

d) 1953
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7. The Apex body which operates micro finance

scheme by promoting self-help groups of individuals

from homogeneous class through banks or
non-government organizations Is
a) Regional Rural Bank
b) Gramin Bank
¢c) State Bank of India
d) National bank for agriculture and rural
development

8.The process of radical economic reforms and
liberalization in India was started in the year
a) 1990
b) 1991
c) 1992
d) 1993

9.the largest contribution to India's foreign
exchange reserve in value terms comes from
a) Engineering goods
b) Software services
c) Gems and jewelry
d) Readymade garments

2011
1.During which five year plan was green revolution
initiated in India

a) 3rd

b) 4th

c) Sth

d) 6th

2.Rolling plan covered the period
a) 1978-83
b) 1973-78
c) 1972-75
d) 1980-85

3.Panchayats
a) Authorized to levy taxes only
b) Have no power to levy taxes
c) Are entitled to government grants only

d) Are authorized to levy and collect taxes, duties ,tolls

and fees

4.Planning commission is a
a) Political body
b) Statutory body
¢) Non-political body
d) Quasi-political body

S5.how many annual plans have been completed till
the commencement of the tenth plan

a) 3

b) 4

c) 1

d) 6

6.The final approval to the draft five year plan is
given by the

a) Parliament

b) President

¢) Planning commission

d) National development council

7.The finance commission is constituted by the
President every

a) 2 years

b) 3 years

c) S years

d) 4 years

3.Liberalization means
1.Removal of industrial licensing
2. De reservation of items from the SSI list
3. Withdrawal of MRTP restrictions
which ones were contemplated by the
government of India in the 1990s

a) 12and?3

b) 1and?2

c) 1And?3

d) 2 and3

9.which of the following industries has shown a
high rate of growth since the 1980's?

a) Capital goods industries

b) Intermediate goods industries

¢) Consumer durable goods industries

d) Consumer non-durable goods industries

10.The Sarkaria commission was setup to review
the relation between

a) 'The prime minister and the president

b) The legislative and executive

¢) The executive and the judiciary

d) The centre and the states

11.the National conference in Calcutta was held to
raise National fund in the year

a) 1883

b) 1884

c) 1885

d) 1905
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2012

1.which group of the society is worst affected by
continuous inflationary price rise

a) Traders and merchants

b) The investors class

c) Selt-employed group

d) Fixed income group

2.What is capital
a) Money 1s capital
b) Machineries and building 1s capital
c) Capital 1s produced means of production
d) None of the above

3.name the program of poverty alleviation launched
by the government of India which was immensely
benefited the rural poor

a) Jawahar rojgar Yojana

b) Indira Gandhi rural housing program

¢) National rural employment guarantee programme

d) Food for work programme

4.Which of the following factors is most important
for future industrial development of India
a) Maintenance of industrial peace
b) Creation of adequate infrastructural facilities
c) Huge investment 1s to be undertaken by the
investor class
d) None of the above

S.point out the main objective of creating SEZs
special economic zones in India
a) creation of special tax free growth points in the
economy mainly to boost up exports
b) Creation of strong industrial units which would
provide employment facilities
c) To give special preference to some industrial units
d) None of the above

6.name the international financial institution which
controls the exchange value of currencies of
different countries

a) Federal reserve system of USA

b) International Bank for reconstruction

and development
¢) IMF International Monetary Fund
d) None of the above

7.name the international body which is the predecessors

of UNO for maintenance of world peace
a) International Union of nations
b) Union of nation States
c) League of Nations
d) None of the above

2013
1.Share of the sector in India's GDP is highest
a) Agricultural sector
b) Industrial sector
Cc) Services sector
d) Foreign trade sector

2.BPL means
a) Below poverty line
b) Behind Public litigation
¢) Beyond private limits
d) Barren public land

3.The latest population census was undertaken in
a) 2011
b) 1991
c) 2005
d) 2001

4. The Mahalanobis strategy of planning give emphasis
to the growth of

a) Agricultural sector

b) Services sector

c¢) Heavy capital goods industrial sector

d) Small scale village industrial sector

S.National rural employment guarantee scheme gives
right to employment for

a) 70 days a year

b) 200 days a year

¢) 100 days a year

d) 30 days a year

6.Planning commission of India is
a) Statutory body
b) Department of Central Government

¢) Department of state government
d) Subsidiary of reserve Bank of India

7.Indian rupee is fully convertible at
a) Current account
b) Capital account
¢) Trade account
d) None of the above

8.Panchayats in West Bengal are authorized to collect
a) Income taxes
b) Sales taxes
c¢) Toll taxes and water taxes
d) Land revenue
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9.Indian economy is a

a) Totally command economy with no private sector

b) Mixed economy
c) Capitalist economy
d) None of the above

10.child labour employment in factories is ban in
India below the age of

a) 12 years

b) 17 years

c) 14 years

d) 10 years

11.Green revolution occurred first in
a) Punjab and Haryana
b) Bihar and West Bengal
¢) Andhra Pradesh and Tamil Nadu
d) Gujarat and Maharashtra

12.structural adjustment policy was introduced by
India on taking loan from

a) IMF

b) World Bank

c) Asian development Bank

d) European Union

13.India is a full member of
a) NAFTA
b) EU
c) SAARC
d) None of the above

2014
1.if withdrawal of a worker from employment does
not create any output loss this situation is known as
a) Search unemployment
b) Voluntary unemployment
c) Disguised unemployment
d) Frictional unemployment

2.Find out the statement which is false.
"Financial structural reform needs
a) Fall in government budget deficit
b) Increasing profitability of economic sectors
c) Reduce inflationary pressure
d) Increase in the balance of payment deficit
3.Apex bank for supplying agricultural credit is
a) Reserve Bank of India
b) State Bank of India
c) NABARD

d) B and C above

4.Plan finance creates increase of money supply if there
IS

a) Increase 1n taxes

b) Increase 1n loan from the reserve Bank of India

c¢) Increase 1n loan from commercial banks

d) Increase in loan from general public

S.In order to control inflation rate price rise reserve
Bank directs Bank to

a) Reduce rate of interest on credit

b) Reduce statutory liquid ratio(SLR)

c) Increase cash reserve ratio (CRR)

d) Buys bonds from capital market

6. Term loan for expansion of industries in India is
mainly provided by

a) Commercial banks

b) Development banks

c) Reserve Bank of India

d) Cooperative Bank

7.Point out the false statement India entered into
financial structural reform by
a) Increasing import restriction
b) Import liberalization
¢c) Opening of domestic market to the World Trade
d) Devaluation of exchange rate

8.Structural reform of financial policy needs
a) SLR to increase and CRR to fall
b) Both SLR and CRR to increase
c) Cut down of easy loan to priority sectors
d) None of the above

9.Major part of tax revenue in India comes from
a) Direct taxes
b) Indirect taxes
¢) Both direct and indirect taxes have equal share
d) None of the above

10.Major part of the Indian agriculture is characterized
by
a) Large size tarm
b) Capitalist agriculture
c) Small size farm
d) Cooperative farmers

11.1and reforms largely benefited the economic
condition of

a) Agricultural laborers

b) Bargadars

c¢) Small farmers

d) Cooperative tarmers
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12.New agri structural strategy created
special benefits for

a) Small farmers

b) Big capitalist farmers

c) Agricultural laborers

d) Intermediate traders

13.Revenue from agricultural income tax is collected
and received by

a) Only union government

b) Only state government

¢) Local selt-government

d) Both Union and State Government

14.Tertiary sectors activities include
a) Cottage industries
b) Mining activities
c) Construction activities
d) Infrastructure services

15.Disinvestment policy implies
a) Dissolving the public sector units
b) Selling the equities of the PSU 1n the open
capital market
¢) Increasing government shares in PSU
d) None of the above

16.Attitude of present industrial policy towards
foreign direct investment is

a) Total rejection of FDI

b) Increase in share of FDI

c) Decrease 1n share of FDI

d) None of the above

17.World Trade Organization directed LDCs include
India to
a) Import export subsidy
b) Bring in exchange control measures
c) Increase liberalization and cooperation in
foreign trade sector
d) None of the above

18.Increasing female literacy is expected to affect
the birth rate in this way

a) To increase

b) To decline

¢) Toremain constant

d) None of the above

2015
1.Peasant farming means
a) The tenant cultivates the land
b) The cultivator 1s the landowner
¢) Cultivation 1s done by Hired labour
d) None of the above

2.is the rural landlord also supplies rural credit to
the tenants it is called

a) Feudalism

b) Semi feudalism

¢) Capitalism

d) Capitalist farming

3.An economy maybe analytically classified into
a) Agriculture industry and transport
b) Agriculture manufacturing and services
c) Primary secondary and tertiary sectors
d) Primary manufacturing and transport sectors

4.The first five year Plan in India was introduced in
the year

a) 1947

b) 1950

c) 1951

d) 1955

S.Heavy industrialization was introduced in India in the
a) First five year plan
b) Second five year plan
¢) Third five year plan
d) Fourth five year plan

6.In which of the following plans did India experience
two successive wars

a) Second five year plan

b) Third five year plan

¢) Fourth five year plan

d) Fifth five year plan

7.the first plan holiday in independent India covered
the period

a) 1965-67

b) 1966-68

c) 1966-69

d) 1965-68

8.the credit cooperative institution at the village level
is called

a) Primary agricultural credit society

b) Rural agricultural credit society

¢) Agricultural loan society
d) Rural Bank

9.Industrial credit is available from
a) IDBI
b) IFCI
c) SFC's
d) All of the above
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10.How many private commercial banks were
nationalized in 1969

a) 12

b) 13

c) 14

d) 15

11.The one rupee currency notes of India issued by
a) The ministry of finance Government of India
b) Reserve Bank of India
c¢) The State Bank of India
d) None of the above

12.The EXIM Bank of India deals with
a) 'The peasants of India
b) Industrial workers of India
c) The exports and imports of India
d) The number of the Indian parliament

13.The railway budget of India is
a) A part of the union budget
b) A part of the state budget
c) Separate from the union budget.
d) None of the above

14.The monetary policy of India is framed by
a) The Government of India
b) The reserve Bank of India
¢) The State Bank of India
d) None of the above

15.NABARD is associated with
a) Industrial development
b) Urban development
¢) Rural Development
d) Development of railways

16.the new agricultural strategy was introduced in
India in the decade of

a) 1950s
b) 1960s
c) 1970s

d) None of the above

17.Marginal workers are people with
a) Less than 183 days of work 1n a census year
b) More than 183 days of work 1n a census year
¢) Only 183 days of work 1n a census year

2016
1.the planning commission of India had introduced
the decentralized planning in the country for the
first time in India during five year plan

a) Sixth

b) Seventh

c) Tenth

d) None of the above

2.India took annual plans from
a) 1969 to 1971
b) 1966 to 1969
c) 1968 to 1970
d) None of the above

3.During the first five year plan the national income
was increased by

a) S%

b) 10%

c) 18%

d) None of the above

4.For his model of industrial location Weber makes
use of

a) Isogons

b) Isophenes

c) Isodapanes

d) Isotachs

S.Nit1 Aayog set up by
a) Resolution by Union cabinet
b) Amending the constitution of India

c) Bothaandb
d) Neitheraandb

6.India's total export of IT,ITES and BPO services
grew up by how much in 2014-15 according to RBI data
a) 14.8%
b) 15.2%
c) 14.2%
d) 16.9%

2017

1.The human development index was first introduced
in the year

a) 1980

b) 1990

c) 1995

d) 2000

2.More than 50% of the working population in
India depends on

a) Primary sector

b) Public sector

¢) Tertiary sector

d) Industrial sector
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3.the largest contributor to gross domestic savings
of India is

a) The household sector

b) The private corporate sector

c) The public sector

d) The foreign sector

4. The service sector of India generates more than
a) 33% of GDP
b) 40% ot GDP
c) 42% ot GDP
d) 50% ot GDP

5. The second five year plans of India was based on
a) The Harold-Domar model
b) The solow model
c) Mahalanobis model
d) Mahatma Gandhi's vision

6.Economic reforms were introduced in the year
a) 1989
b) 1990
c) 1991
d) 1992

7. The reserve Bank of India was established in the year
a) 1930
b) 1935
c) 1947
d) 1951

8.the SEBI was given statutory recognition in 1992
on the recommendation of

a) The Chalraborty commission

b) The Chelliah committee

¢) The Tendulkar committee

d) The Narsimha committee

9.In India the repo rate is announced by
a) The ministry of finance Government of India
b) The prime minister of India
c) Reserve Bank of India
d) The president of India

10.The unorganized sector of India is characterized by
a) More currency transactions
b) More Bank transactions
c) More barter transactions
d) More foreign exchange transactions regards

11.The Special Economic Zones act was passed by
the Indian parliament in 2005 and the act came into
force in

a) 2006

b) 2009

c) 2014

d) 2016

12.In India non-agricultural income tax is
a) Levied by the centre and fully distributed among
the states
b) Levied by the states
¢) Levied and appropriated by the centre
d) Levied by the centre and shared with the state

13.the objective of the Fiscal Responsibility And
Budget Management Act 2003 is

a) To reduce revenue deficit

b) To reduce fiscal deficit

c) To ensure that public debt does not exceed 50%
of the GDP of year from 2011

d) All of the above

14.World development report is published by
a) The United Nations organizations
b) The Asian development Bank

c) The World Bank
d) The World Trade organization

15.as per census of 2011 the share of population below
the age of 35 years in India is

a) S50%

b) 55%

c) 60%

d) 65%

16.in the wake of the Stockholm conference the
Government of India set up the national committee
on environmental planning and coordination in the year
a) 1972
b) 1980
c) 1985
d) 1990

17.in terms of population India ranks second in
the world while in terms of area India ranks

a) First

b) Second

c) Seventh

d) Eighth
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18.AGMARK is related to S.Development expenditure of Central government
a) Industry does not include
b) Indian railways a) Detence expenditure
c) Agricultural goods b) Expenditure on Economic services
d) Agricultural finance ¢) Expenditure and social and community services
d) Grant to States
2018
6.Fiscal deficit is
1.which of the following is not required while a) revenue receipts + capital receipts
considering GNP gross National product ( only recoveries of loans and other receipts)-
a) Purchase of goods by government total expenditure
b) Private investment b) budget deficit + governments market borrowings
c) Per capita income of citizens and liabilities
d) Net foreign investment ¢) Primary deficit + interest payment
d) All of the above
2.Niti Aayog is set up by
a) Resolution by Union cabinet 7.Expenditure for public administration falls under
b) Amending the constitution of India a) Plan expenditure
c) Bothaandb b) Non plan expenditure
d) Neither anorb c) Profitable expenditure

d) None of the above
3.Financial inclusion as per RBI means

a) Greater consumer protection for newly included 8.At present the JNNURM project of the central
customers government

b) An easily accept and speedy grievance redressal a) Funds development in cities for transport only
process b) First developed in rural areas for hospital only

¢) Expanded etforts on financial literacy ¢) Funds project in cities to improve quality of life

d) All of the above and 1nfrastructure

d) Limitedly tunds road development tor villages
4.India imports maximum gold from which country

a) Switzerland 9.Green revolution in India has taken place through
b) UAE district wise execution of

¢) South Africa a) IADA (intensive agricultural district programme)
d) Brazil b) IAAP(intensive agricultural area programme)

c) IADA and IAAP
d) None of the above
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